t41 nat 1 (TMbbUAGx-
ADATMMdgATHIAHVIK1ZtZTQJsNA)

October 27, 2020

Let v7_ordinall : t=>0 be given. Let kb_card_1 : == be given. Let r1_zzreal_0 :
t=>1=0 be given. Let rl_tarski : t=1=0 be given. Let rl_ordinall : t:=1=0
be given. Let v3_ordinall : t=0 be given. Let vl_xboole 0 : t=-0 be given. Let
kd_ordinall : ¢ be given. Let vl_finset_1 : 1=0 be given. Let ml_subset_1 :
t=1=>0 be given. Assume the following.

VX0VX1.-(X0 e X1)A(rltarski X1 XO0) (1)
Assume the following.

VX0.(v7-ordinall X0)=(VX1.(v7_ordinall X1)=(( (2)
rlordinall (k5-card_1 X0) (k5_card-1 X1))=(rlzareal 0 X0 X1)))

Assume the following.

VXO0.(v3-ordinall X0)=(VX1.(v3_ordinall X1)=(( (3)
rloordinall X0 X1)V(X1 € X0)))

Assume the following.

VX0.YX1.((v3-ordinall X0)A(v3_ordinall X1))=( (4)
(rl_ordinall X0 X1)<(rltarski X0 X1))

Assume the following.
(—wvl_zboole 0 k4_ordinall)A(v3_ordinall kd_ordinall) (5)

Assume the following.
VX0.(vl_finset_1 X0)=(ml_subset_1 (k5_card_1 X0) kd_ordinall) (6)

Assume the following.
VX0.(v7-ordinall X0)=-(vl_finset-1 X0) (7)

Assume the following.

VX0.(v3_ordinall X0)=(VX1.(ml_subset.1 X1 X0)= (8)
(v3_ordinall X1))



Theorem 1

VX0.(v7_ordinall X0)=(VX1.(v7_ordinall X1)=((
kE5_card-1 X0 € k5_card_1 X1)&(—rl_zzreal 0 X1 X0)))



